ER2—1

MEBHNEI S 2 =T« HERETE (F)

251 RE UGB UCSECRSREDSHATEZR LET,
CXBIFESOBBICKD. HEREBRTRRUVEERND S, —BOSREELEZTNETI.)

DEBZE H70mM @iEZE #9200 m




N

=

F-T35V (BNEAERETIID. BNLTNET) S=1/400 GrERRSETERCERER)
| |
= —1 gaﬁij B [+ E1— H — g — 58 BESQ 58 — T
2 leen BHE mig= _ |REEE| = 0
i ERE B SHEE RE 1 SeEEE - T — o
WC BE ) = m{% .
o o i —{1 1 A £ £ £ 0 s il P s o TR [
%@ 'WC | | | | T [ w
o _ P . \: - - /.'—'-\ -
0 29 oy Em . B2 Ocgn 2B : = \
p, /\é o e Ak e I
9 $F’J§ ELBT /-I_\-)l/ ﬁ%{i@ Buﬁ% /-R"_)I/ [E;—i:. I] )
B - i : I [ S . : ﬁ]
| | | | 5 =
e
6400 6400 6400 6400 6400 6400 6400 6400 6400 6400 I
64000 BBEHERM2BETEN (/)W)
-] - T 1
| | | —‘L_‘,_._‘_E] LI e o B }
- —I[ e 1 i [+ t1— B — = — H — ] - C oy 1 . i
T ._..11 , b
o $&$j§ ﬁlﬂ‘il'.sz_ |
8 EV o - T
S | BEERR2ETEN (B ~—~_ e A
=R ~ oo VL
T i Z
o o — gl 0 O3 - B- —f - —f - FHEZ : $1200m
28 | | | | BHE AN
° 2 i T = M- — M- —B - —f — fF— — 1
ADIER
o L#E I
P zE | smE L =
pat e =68 9.72nt
| 11 B D* I M _ M _ M — [T
| | | |
Nl
[ ] B8 - BEERHLPA
6400 6400 6400 6400 6400 6400 6400 6400 6400 6400 |:| %{E%Bﬁﬁ
64000
[ ] A
X LIGMBEEETP+117TmZ 8T, B :F@.

X ASBRL RIRETHD, SEOBHCLIDERLRDTEEDDD,

BB/ ERBIREMRE RS ETE Iastex (MRCHEER) 1/400 - o




